



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN

ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-71671-699c7bf7a7993**

Date : **February 23, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading 2095
	Destination Country Iraq	Destination Port KANI SHAYTAN
	Export Date 2026-02-24	Exporting Carrier FEDEX
Consignee Royal Can Making Company Nahyat Bazian - Kani Shaytan Sulaymaniyah - Kirkuk Highway Sulaymaniyah - 46001 Iraq	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks Consignor reference: 514945	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
VACUUM BLOWER,15KW(20HP),IE3 PREM EFF,IEC FRAME,IP55+ H.S.Code: 8414599080	607 LBS	United States
TRANSFER BELT, 200 SOT., 1.113 TAB PROG. [?2.000 HOLE] H.S.Code: 4010390000	9.38 LBS	United States
169PL-4-10X32 PL FITTG PARKER PART H.S.Code: 7307225000	0.036 LBS	United States
NEEDLE ADJUST SCREW (28 PITCH) H.S.Code: 7318159000	0.038 LBS	United States
WASHER, NEEDLE LIFT SOLENOID, SENCON H.S.Code: 7318220000	0.002	United States
PUNCH-PANEL FORM H.S.Code: 8207306090	0.074 LBS	United States
SOLENOID ADJUSTMENT H.S.Code: 8424909500	0.309 LBS	United States

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
 The Applicant is authorized to give the undertakings set out herein.



Sandi Moilanen

Authorized Signature **Sandi Moilanen**



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-71671-699c7bf7a7993**

Date : **February 23, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading 2095
	Destination Country Iraq	Destination Port KANI SHAYTAN
	Export Date 2026-02-24	Exporting Carrier FEDEX
Consignee Royal Can Making Company Nahyat Bazian - Kani Shaytan Sulaymaniyah - Kirkuk Highway Sulaymaniyah - 46001 Iraq	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Buyer (Importer)	
Remarks Consignor reference: 514945		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
INSERT, UPPER SCORE, 200 SOE RP (LONG BEAD) H.S.Code: 8466940002	0.274 LBS	United States
PIERCE PUNCH-.150 DIA. PILOT H.S.Code: 8466940002	0.038 LBS	United States
PUNCH, STAKE (CS) H.S.Code: 8466940002	0.029 LBS	United States
BUSHING, STAKE PUNCH (CS) H.S.Code: 8466940002	0.038 LBS	United States
CARTRIDGE FILTER H.S.Code: 8466940002	0.81 LBS	United States
LEADER PIN (RS) H.S.Code: 8466940002	16.10 LBS	United States
BEARING RETAINER (RS) H.S.Code: 8482105024	1.4 LBS	United States

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
 The Applicant is authorized to give the undertakings set out herein.



Sandi Moilanen

Authorized Signature **Sandi Moilanen**



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-71671-699c7bf7a7993**

Date : **February 23, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading 2095
	Destination Country Iraq	Destination Port KANI SHAYTAN
	Export Date 2026-02-24	Exporting Carrier FEDEX
Consignee Royal Can Making Company Nahyat Bazian - Kani Shaytan Sulaymaniyah - Kirkuk Highway Sulaymaniyah - 46001 Iraq	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks Consignor reference: 514945	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
BUSHING LONG (RS) H.S.Code: 8483308090	5.46 LBS	United States
CABLE, TURCK, MS3106M-14S, SHELL #14, 6 PIN H.S.Code: 8544420000	2.05 LBS	Denmark
=====end of products=====	=====	=====

Name of Authorized Trade Association



Authorized Signature *Sandi Moilanen*

Sandi Moilanen

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
- The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.



Stolle Machinery Company LLC
 2900 Campbell Road
 Sidney OH 45365 USA
 Phone: 937-497-5400

Commercial Invoice
For Customs Clearance

Invoice Number: 514945
Date: 2/23/2026

Bill To 1026401
 ROYAL CAN MAKING CO.
 NAHYAT BAZIAN,
 KANI SHAYTAN
 - SULAYMANYIAH KIRKUK HWY
 IQ - IRAQ

Consignee 1026401
 ROYAL CAN MAKING CO.
 NAHYAT BAZIAN,
 KANI SHAYTAN
 - SULAYMANYIAH KIRKUK HWY
 IQ - IRAQ

SHIPPING METHOD SEE BELOW
NUMBER PCS / WEIGHT 1.00 / 407.33 kg
B/L

INCOTERMS Exwk Sidney OH Plant Incoterms 2010
TERMS 90 Days Net
PRO NO
ITN

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
S112990 1 1	2026000017 222147795-BELT TRANSFER BELT, 200 SOT., 1.113 TAB PROG. [Ø2.000 HOLE]	4010390000 UNITED STATES	4.00 EA	1,019.47	4,077.86	4.257	17.03 kg
Total HS Code - DOMESTIC		4010390000	4.00		4,077.86		17.03 kg
Total HS Code - FOREIGN		4010390000					
Total HS Code - TOTAL		4010390000	4.00		4,077.86		17.03 kg
S113089 4 1	FPO-2026000048 70100086 169PL-4-10X32 PL FITTG PARKER PART	7307225000 UNITED STATES	20.00 EA	11.91	238.14	0.016	0.33 kg
Total HS Code - DOMESTIC		7307225000	20.00		238.14		0.33 kg
Total HS Code - FOREIGN		7307225000					
Total HS Code - TOTAL		7307225000	20.00		238.14		0.33 kg
S113390 7 1	FPO-2026000131 222150312 NEEDLE ADJUST SCREW (28 PITCH)	7318159000 UNITED STATES	10.00 EA	102.20	1,022.04	0.017	0.17 kg
Total HS Code - DOMESTIC		7318159000	10.00		1,022.04		0.17 kg
Total HS Code - FOREIGN		7318159000					
Total HS Code - TOTAL		7318159000	10.00		1,022.04		0.17 kg



Stolle Machinery



Stolle Machinery Company LLC
 2900 Campbell Road
 Sidney OH 45365 USA
 Phone: 937-497-5400

Commercial Invoice
For Customs Clearance

Invoice Number: 514945
Date: 2/23/2026

S113390 6 1	FPO-2026000131 222108861 WASHER, NEEDLE LIFT SOLENOID, SENCON	7318220000 UNITED STATES	120.00 EA	11.80	1,415.88	0.001	0.11 kg
Total HS Code - DOMESTIC		7318220000	120.00		1,415.88		0.11 kg
Total HS Code - FOREIGN		7318220000					
Total HS Code - TOTAL		7318220000	120.00		1,415.88		0.11 kg
S111984 2 1	FPO-2025000698 C-149255 PUNCH-PANEL FORM	8207306090 UNITED STATES	1.00 EA	210.33	210.33	0.034	0.03 kg
Total HS Code - DOMESTIC		8207306090	1.00		210.33		0.03 kg
Total HS Code - FOREIGN		8207306090					
Total HS Code - TOTAL		8207306090	1.00		210.33		0.03 kg
S111366 1 1	FPO-2025000515 222132332 VACUUM BLOWER,15KW(20HP),IE3 PREM EFF,IEC FRAME,IP55+	8414599080 UNITED STATES	1.00 EA	15,517.80	15,517.80	275.331	275.33 kg
Total HS Code - DOMESTIC		8414599080	1.00		15,517.80		275.33 kg
Total HS Code - FOREIGN		8414599080					
Total HS Code - TOTAL		8414599080	1.00		15,517.80		275.33 kg
S113390 4 1	FPO-2026000131 L0000EN02700200 SOLENOID ADJUSTMENT	8424909500 UNITED STATES	50.00 EA	64.39	3,219.30	0.140	7.02 kg
Total HS Code - DOMESTIC		8424909500	50.00		3,219.30		7.02 kg
Total HS Code - FOREIGN		8424909500					
Total HS Code - TOTAL		8424909500	50.00		3,219.30		7.02 kg
S113181 1 1	2026000062 A-138857 LEADER PIN (RS)	8466940002 UNITED STATES	4.00 EA	171.69	686.77	7.305	29.22 kg
S113089 5	FPO-2026000048 8010447 CARTRIDGE FILTER	8466940002 UNITED STATES	6.00 EA	227.42	1,364.53	0.371	2.23 kg



Jan Li Meilum



Stolle Machinery Company LLC
 2900 Campbell Road
 Sidney OH 45365 USA
 Phone: 937-497-5400

Commercial Invoice
For Customs Clearance

Invoice Number: 514945
Date: 2/23/2026

S112611	FPO-2025000860	8466940002	6.00	321.30	1,927.80	0.017	0.10 kg
4	B-178108	UNITED STATES	EA				
1	BUSHING, STAKE PUNCH (CS)						
S112611	FPO-2025000860	8466940002	8.00	222.13	1,777.03	0.013	0.11 kg
1	B-107886	UNITED STATES	EA				
1	PUNCH, STAKE (CS)						
S112415	FPO-2025000800	8466940002	8.00	230.72	1,845.79	0.017	0.14 kg
4	C-170991	UNITED STATES	EA				
1	PIERCE PUNCH-.150 DIA. PILOT						
S111590	FPO-2025000580	8466940002	4.00	1,125.00	4,500.00	0.124	0.50 kg
1	222147523	UNITED STATES	EA				
1	INSERT, UPPER SCORE, 200 SOE RP (LONG BEAD)						

Total HS Code - DOMESTIC	8466940002	36.00	12,101.92	32.29 kg
Total HS Code - FOREIGN	8466940002			
Total HS Code - TOTAL	8466940002	36.00	12,101.92	32.29 kg

S113181	2026000062	8482105024	4.00	163.38	653.51	0.635	2.54 kg
3	A-138859	UNITED STATES	EA				
1	BEARING RETAINER (RS)						

Total HS Code - DOMESTIC	8482105024	4.00	653.51	2.54 kg
Total HS Code - FOREIGN	8482105024			
Total HS Code - TOTAL	8482105024	4.00	653.51	2.54 kg

S113181	2026000062	8483308090	4.00	219.99	879.95	2.481	9.92 kg
2	B-128310	UNITED STATES	EA				
1	BUSHING LONG (RS)						

Total HS Code - DOMESTIC	8483308090	4.00	879.95	9.92 kg
Total HS Code - FOREIGN	8483308090			
Total HS Code - TOTAL	8483308090	4.00	879.95	9.92 kg

S111745	FPO-2025000635	8544420000	1.00	118.08	118.08	0.930	0.93 kg
2	222139617	GERMANY	EA				
1	CABLE, TURCK, MS3106M-14S, SHELL #14, 6 PIN						

Total HS Code - DOMESTIC	8544420000			
Total HS Code - FOREIGN	8544420000	1.00	118.08	0.93 kg
Total HS Code - TOTAL	8544420000	1.00	118.08	0.93 kg



Stolle Machinery



Stolle Machinery Company LLC
 2900 Campbell Road
 Sidney OH 45365 USA
 Phone: 937-497-5400

**Commercial Invoice
 For Customs Clearance**

Invoice Number: 514945
Date: 2/23/2026

Grand Total: 39,454.81 345.70 kg

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
CRATE	48.00	33.00	39.00	in	0.00	407.33	kg
Total					0.00	407.33	kg

Signature

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited.
 ***PRODUCT IS SOLD IN USD AND PAID IN US CURRENCY*

ACCEPTANCE. This order is subject to acceptance by Stolle Machinery Company, LC ("Seller"). Acceptance is conditional upon all terms and conditions stated on the face and reverse sides of this document. The Purchaser's assent to these terms and conditions shall be conclusively presumed: (a) if the Purchaser's retains this Acknowledgment without objection for ten (10) days after receipt, or (b) if the Purchaser accepts all or any part of the goods.

The Seller expressly rejects any terms or conditions proposed by the Purchaser that differ from or add to those stated herein. Once accepted, this order may only be modified in writing, signed by the Seller.



Jan Li Meilum